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6. Questions of  English Medium will be considered for evaluation

in case it differs in Hindi Medium.

7. Answers must be shown by completely blackening the

corresponding rectangles on Side-II of the Answer-Sheet

against the relevant question number by black/blue ball

pen only. Answers which are not shown by black/blue ball

pen will not be awarded any mark.

8. The Answer-Sheet must be handed over to the Invigilator

before you leave the Examination Hall.

9. Failure to comply with any of the above instructions will

render a candidate liable to such action/penalty as any be

deemed fit.

10. The manner in which the different questions are to be

answered has been explained in the OMR form which you

should read carefully before answering the questions.

11. Answer the questions as quickly and as carefully as you

can. Some questions may be difficult and others easy. Do

not spend too much time on any question.

12. No Rough Work is to be done on the Answer-Sheet. Space

for rough work has been provided at the back of the booklet.

1. This Booklet contains 100 questions in all comprising
the following three parts:
Reasoning
Mathematics
General Awareness
General Science

2. All questions are compulsory and carry one mark each.
3. Before you start to answer the questions you must check

up this Booklet and ensure that it contains all the pages
(1-10) and see that no page is missing or repeated. If you
find any defect in this Booklet, you must get it replaced
immediately.

4. For every wrong answer 0.33 marks will be deducted
from the correct answer.

5. You will be supplied the Answer-Sheet separately by
the Invigilator. You must complete the details of Ticket
Number, Roll Number and Test Form Number on Side-
I of the Answer-Sheet carefully before you actually start
answering the questions. You must also put your
signature on the Answer-Sheet at the prescribed place.
These instructions must be fully complied with, failing
 which your Answer-Sheet will not be evaluated and
you will be awarded ‘ZERO’ mark.
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Direction (1–2) : In each of the following

questions, select the related letter/word/

number from the given alternatives./funsZ'k
(1-2): fn, x, fodYiksa esa ls lacaf/r 'kCn@v{kj@la[;k
dks pqfu,A

1. FG : UT : : HI : ?

(A) HI (B) GH

(C) SR (D) ED

2. 4 : 44 : : ? : 77

(A) 3 (B) 6

(C) 7 (D) 5

Direction (3–4) : Find the odd word/
letter/number from the given
alternatives.

fun s Z'k (3-4): fn, x, fodYik s a e s a ls fo"ke
'kCn@v{kj@la[;k@la[;k ;qXe dks pqfu,A

3. (A) EV (B) G T

(C) JQ (D) MO

4. (A) 4246 (B) 8314

(C) 9546 (D) 7284

5. "INSTANT" is written as "IOUWESZ"
in a certain code language. How will
"FORGET" be written in this code

language?

,d fof'k"V dksM Hkk"kk es a, "INSTANT" dks
"IOUWESZ" fy[kk tkrk gSA bl dksM Hkk"kk esa
"FORGET" dks fdl izdkj fy[kk tk,xk \

(A) FPOGXI (B) FOSIGX

(C) FPSKHW (D) FPTJIY

6. If "A" means "Multiplication", "C"
means "Substraction", "D" means
"Addition" and "B" means "Divison",
then 8 C 45 D 180 B 9 A 11 = ?

;fn "A" dk vFkZ "xq.kk", "C" dk vFkZ "?kVkuk" gS,
"D" dk vFkZ "tksM+" gS vkSj "B" dk vFkZ "Hkkx" gS,
rks 8 C 45 D 180 B 9 A 11 = ?

(A) 141 (B) 142

(C) 183 (D) 143

7. Akhil is Rashmi's maternal uncle.
Rashmi is Ramesh's daughter. How is
Ramesh related to Akhil?

vf[ky] jf'e dk ekek gSA jf'e] jes'k dh csVh gSA
jes'k] vf[ky ls dSls lacaf/r gS \

(A) Brother-in-law/ cguksbZ@lkyk

(B) Brother/HkkbZ

(C) Father/ firk

(D) Cousin/ ppsjk HkkbZ

8. Statement/ dFku :

The average family income in the
metros has increased today as
compared to earlier, as in most families
these days husbands and wives both
are working. Which of the following
inferences cannot be drawn from the
above statement?

egkuxjksa esa ifjokj dh vkSlr vk; igys dh rqyuk esa
vkt c<+ x;h gSA D;kasfd vf/dre ifjokjksa esa ifr rFkk
iRuh nksuksa dke dj jgsa gSA fuEufyf[kr esa ls dkSu&lk
mQij fn;s x, dFku ls js[kkafdr ugha fd;k tk ldrk gSa\

(A) It was less prevalent for the spouse

to work earlier than today./vkt dh
rqyuk igys ifr osQ fy, dk;Z djuk de izpfyr FkkA

(B) Wives earn more than their

husbands today./vkt iRuh vius ifr dh
vis{kk vfèkd dekrh gSA

(C) The family income level was lower

a few years ago./oqQN o"kZ igys ifjokj dh
vk; dk Lrj de FkkA

(D) More husbands and wives are
working today as compared to last

few years./fiNys oqQN o"kksZ dh rqyuk esa vkt
vR;fèkd ifr rFkk iRuh dk;Z dj jgs gSaA

Direction (9-10) : In each question
below are given two or three
statements followed by two
conclusions numbered I and II. You
have to take the given statements
to be true even if they seem to be at
variance with commonly known
facts. Read the following statements
and then decide which of the given
conclusions logically follows from the
given statements, disregarding
commonly known facts.

funsZ'k (9–10) : fn;s x, izR;sd iz'u esa nks
;k rhu dFku ,oa nks fu"d"kZ I ,oa II fn;s x, gSA
vkidks bu dFkuksa dks lR; ekuuk gS] Hkys gh oks
loZKkr rF;ksa ls fHkUu izrhr gksrs gSA lHkh dFkuksa
dks i<+s rFkk r; djsa fd fn;k x;k fuEu fu"d"kZ
fn, x, dFkuksa dks rkfdZd :i ls vuqlj.k
djrk gSA

Give answer/ mÙkj nsa&
(A) If only conclusion I

follows./;fn dsoy fu"d"kZ I

vuqlj.k djrk gSA
(B) If only conclusion II

follows./;fn dsoy fu"d"kZ II

vuqlj.k djrk gSA
(C) If either conclusion I or II

follows./;fn ;k rks fu"d"kZ I ;k fu"d"kZ
II vuqlj.k djrk gSA

(D) If both conclusions I and II

follow./;fn nksuksa fu"d"kZ I rFkk II
vuqlj.k djrs gSaA

9. Statements/ dFku :
Some paints are brushes.

dqN isUV cz'k gSA
No brush is a canvas.

dksbZ cz'k dsuokl ugha gSA

Conclusions/ fu"d"kZ  :
I. No paint is a canvas.

dksbZ isUV dsuokl ugha gSA
II. All brushes can be paints

is a possibility.

lHkh cz'k ds isUV gksus dh laHkkouk gSA

10. Statements/ dFku :
All roots are flowers.

lHkh tM+ iwQy gSA
No root is a thorn.

dksbZ tM+ dk¡Vk ugha gSA

Conclusions/ fu"d"kZ  :
I. All thorn can be flower is a

possibility.

lHkh dk¡Vksa ds iwQy gksus dh laHkkouk gSA

II. Some flowers are definitely
not thorns.

dqN iwQy fuf'pr gh dk¡Vs ugha gSA
11. Find out the missing points from the

options given in the following pages.

fuEufyf[kr i'u esa fn, x, fodYiksa esa ls yqIr vad
Kkr dhft,A

99 31 91

15 17 18

1485 527 ?

(A) 1678 (B) 2341

(C) 1137 (D) 1638

12. Select the diagram that gives the correct
representation of the relationship
between the sections below.

og vkjs[k pqfu, tks uhps fn, x, oxks± ds chp ds
laca/ dk lgh fu:i.k djrk gSA

Animal, Lion, Tiger

i'kq] 'ksj] ck?k

(A) (B)

(C) (D)

13. Ekta walks 25 m in the north, then
turns right and walks 100 m, then
turns into a south direction and walks
25 m. Finally, she turns 55 m left and
walks. What is the distance between
the initial and the final points of Ekta?

,drk mRrj fn'kk esa 25 eh- pyrh gS] fiQj nk,a eqM+dj
100 eh- pyrh gS] fiQj nf{k.k fn'kk esa eqM+dj 25 eh- vkSj
pyrh gSA var esa] og ck,a eqM+dj 55 eh- pyrh gSA ,drk
dh izkjfEHkd vkSj vafre LFkku ds chp dh nwjh D;k gS \

(A) 185 m/ eh- (B) 155 m/ eh-

(C) 190 m/ eh- (D) 135 m/ eh-

14. Which group of letters will fill the
letter given by keeping alphabetical
order?

v{kjksa dk dkSu lk lewg [kkyh LFkkuksa ij Øeokj j[kus
ls nh xbZ v{kj  Üka[̀kyk dks iwjk djsxk \

_BA_BBA_AB_B

(A) ABAB (B) AAAB

(C) BBAB (D) BBBA

15. Write the following words according
to the order in the dictionary.

fuEufyf[kr 'kCnksa dks 'kCndks'k esa vkus okys Øe ds
vuqlkj fy[ksaA

i . Accuse

ii . Accustom

iii. Accumulation

iv. Accompany

(A) iii, iv, i, ii (B) iv, iii, i, ii

(C) ii, iii, i, iv (D) iv, iii, ii, i

16. "CERTAIN" is written as "DFSTBJO" in
a certain code language. How will
"CRICKET" be written in this code
language?

,d fof'k"V dksM Hkk"kk esa, "CERTAIN" dks
"DFSTBJO" fy[kk tkrk gSA bl dksM Hkk"kk
"CRICKET" dks fdl izdkj fy[kk tk,xk \

(A) DSJBLFU (B) DSJDLFU

(C) DSJCLFU (D) DSJCLFV



KD Campus

KD Campus

2

17. If a mirror is placed on line MN, then
which of the given answer shapes will
be a true reflection of the question

figure?

;fn ,d niZ.k dks MN js[kk ij j[kk tk,] rks nh xbZ
mÙkj vkÑfrvksa esa ls dkSu&lh vkÑfr iz'u vkÑfr dk
lgh izfrfcEc gksxk \

N

M

(A) (B)

(C) (D)

18. In a Library 40% books are of English,
80% of the rest books are of Hindi and
remaining 300 books are of other
languages. The
number of books in the Library is :

,d ykbczsjh esa 40% iqLrd vaxzsth dh gS rFkk 'ks"k
iqLrdksa esa 80% iqLrd fgUnh dh gS vkSj 'ks"k 300

iqLrd vU; Hkk"kkvksa dh gSA ykbczsjh esa dqy fdruh
iqLrdsa gSa\

(A) 2,000 (B) 1,500

(C) 2,500 (D) 3,500

19. The average age of 24 boys and their
teacher is 15 years. When the
teacher’s age is excluded, the average
age decreases by 1 year. The age of
the teacher is–

24 yM+dksa rFkk muds vè;kid dh vkSlr vk;q 15

o"kZ gSA tc vè;kid dh vk;q ?kVk nh tk,] rks vkSlr

vk;q 1 o"kZ ?kV tkrh gSA vè;kid dh vk;q gS&

(A) 38 years/ o"kZ (B) 39 years/ o"kZ

(C) 40 years/ o"kZ (D) 41 years/ o"kZ

20. If (3a + 1)2 + (b – 1)2 + (2c – 3)2 = 0,
then the value of (3a + b + 2c) is equal
to :

;fn (3a + 1)2 + (b – 1)2 + (2c – 3)2 = 0 gS]
rks (3a + b + 2c) ds cjkcj gksxk&

(A) 3 (B) –1

(C) 2 (D) 5

21. Vivek sells his goods 30% cheaper
than Apurva and 30%  dearer than
Kunal. Find by what percent is the
cost of Kunal's goods cheaper than
Apurva's goods ?

foosd viuh oLrq dks viwoZ ls 30% de esa csprk gS
rFkk dquky ls 30% vf/d esa csprk gSA Kkr dhft,
fd dquky dh oLrq dk ewY; viwoZ dh oLrq ds ewY; ls
fdrus izfr'kr de gSa ?

(A) 67.15% (B) 47.15%

(C) 46.15% (D) 67%

22. In the given figure, AB||CD and

PEB = 80º, QHD = 120º, PQR =
xº, then the value of x is –

fn, x, fp=k esa  AB||CD rFkk PEB = 80º,

QHD = 120º,PQR = xº, rks  x  dk eku gS –

xº

A

B

C 

E H

D

80º

F

P

R

Q

120º

(A) 80º (B) 100º

(C) 60º (D) 20º

23. If y percent of one hour is 1 minute 12
seconds, then y is equal to -

;fn ,d ?kaVs dk y izfr'kr 1 feuV 12 lsd.M gS] rks
y  cjkcj gS&

(A) 2 (B)
1

2

(C)
1

4
(D) 1

24. On selling 14 watches having equal
cost price at the rate of  Rs. 450, each
there is a profit equal to cost price of
4 watches. What is the cost price of
one watch ?

leku Ø;&ewY; okyh 14 ?kfM+;ksa dks :i, 450 izfr
?kM+h dh nj ls cspus ij 4 ?kfM+;ksa ds Ø; ewY; ds
cjkcj ykHk izkIr gksrk gSA ,d ?kM+h dk Ø; ewY; gS&

(A) Rs. 350 (B) Rs. 400

(C) Rs. 360 (D) Rs. 375

25. Two vessels A and B contain milk and

water in the ratio 4 : 3 and 2 : 3
respectively. In what ratio they must
be mixed  so that new mixture prepared
contains half milk and half water ?

nks crZu A rFkk B esa nw/ vkSj ikuh Øe'k% 4 : 3 rFkk
2 : 3 ds vuqikr esa gSA rnkuqlkj] mu nksuksa dks ijLij
fdl vuqikr esa feyk;k tk;s] fd u;s feJ.k esa vkèkk
nw/ vkSj vk/k ikuh gks ?

(A) 5 : 6 (B) 4 : 3

(C) 7 : 5 (D) 6 : 5

26. An increase of 25% in entrance fee in
a cinema hall causes a decrease of 30%
in the number of viewers. What is its
effect on total revenue in percentage ?

,d flusek gkWy ds izos'k 'kqYd esa 25% o`f¼ gksus ij
n'kZdksa dh la[;k esa 30% dh deh gksrh gSA Kkr
dhft, dh dqy dekbZ esa fdruk izfr'kr ifjorZu gksxk ?

(A) Decreases by 8
1

2
%/ 8

1

2
% ?kV tkrh gS

(B) Increases by 8
1

2
%/ 8 

1

2
% c<+ tkrh gS

(C) Increase by 12
1

2
%/ 12

1

2
% c<+ tkrh gS

(D) Decreases by 12
1

2
%/ 12

1

2
% ?kV tkrh gS

27. In the adjacent figure lines AB and

CD intersects at O. If AOC + BOE

= 70° and BOD = 40° then find re-

flexive COE.

nh x;h vkd̀fr esa js[kk;sa AB o CD, fcUnq O ij izfrPNsn
djrh gSA ;fn AOC + BOE = 70° rFkk BOD

= 40° gks] rks izfrorZdks.k COE Kkr djsa ?

C

A

D

B

E

O 40°

(A) 110° (B) 180°

(C) 70° (D) 250°

28. A man covers a distance of 60 kms at
a speed of 40 km/hr and another
distance of 50 kms at 30 km/hr, the
average speed is:

,d O;fDr 60 fdeh- dh nwjh 40 fdeh-@?kaVk dh
pky ls rFkk vxys 50 fdeh- dh nwjh 30 fdeh-@?kaVk
dh pky ls r; djrk gS] rks mldh vkSlr pky gSµ

(A)
2

32
19

 km/hr/ fdeh-@?kaVk

(B)
3

34
5

 km/hr/ fdeh-@?kaVk

(C)
14

34
19

 km/hr/ fdeh-@?kaVk

(D) 35 km/hr/ fdeh-@?kaVk

29. Find the third proportional to 16 and

36./16 rFkk 36 dk rr̀h;d lekuqikr Kkr djsaA

(A) 80 (B) 18

(C) 81 (D) 36

30. A bag contains 50 p, 25 p, and 10 p
coins in the ratio 5 : 9 : 4, amounting
to Rs. 206. Find the number of coins
of each type.

,d FkSys esa 50 iSú, 25 iSú vkSj 10 iSú ds flDds dk
vuqikr 5 : 9 : 4 ds vuqikr esa gSA ftudk dqy ewY; :i,
206 gSA gj ,d izdkj ds flDdksa dh la[;k Kkr djsaA

(A) 40, 360, 160 (B) 200, 360, 160

(C) 80, 300, 150 (D) 40, 160, 300

31. If the cost price of 6 articles is equal
to the selling price of 4 articles, then
gain percent is

;fn 6 oLrqvksa dk Ø; ewY; 8 oLrqvksa ds foØ; ewY;
ds cjkcj gS] rks ykHk izfr'kr Kkr djsaA

(A) 33% (B) 50%

(C) 66% (D) 75%

32. Find the least number which when
divided by 20, 25, 35 and 40 leaves
remainders as 14, 19, 29 and 34
respectively.

og U;wure la[;k Kkr djsa ftls 20, 25, 35 rFkk
40 ls foHkkftr djus ij Øe'k% 14, 19, 29 rFkk
34  'ks"k jgrk gksA

(A) 1390 (B) 1300

(C) 1400 (D) 1394

Direction (33 - 34) : Study the following
table to answer the given question:

funsZ'k (33-34) : fn, x;s iz'uksa dk mÙkj nsus ds fy,
fuEufyf[kr rkfydk dk è;ku iwoZd vè;;u djsaA

Production (in crore units) of six

companies over the years/fofHkUu o"kks± esa N%
dEifu;kas dk mRiknu

(djksM+ bdkbZ esa)
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Company
daiuh                     

TP
ZIR
AVC
CTU
PEN
SIO
Total/dqy

Year/ o"kZ
Total
dqy

2009
103
75

300
275
25
85

863

2011
105

83
300
281

35
89

893

2010
150

80
300
280

30
87

927

2012
107

86
360
280

40
91

964

2013
110

90
370
285

42
92

989

2014
132

91
340
287

45
96

991

707
505

1970
1688
217
540

5627

33. The production of company AVC in 2012
is approximately what percent of its
average production over the given years

?/o"kZ 2012 esa daiuh AVC dk mRiknu fn, x, lHkh
o"kks± ds vkSlr mRiknu dk yxHkx fdrus izfr'kr gSa \

(A) 300 (B) 110

(C) 136 (D) 18.25

34. For SIO, which year was the percent
increase or decrease in production from
the previous year, the highest ?

daiuh SIO ds mRiknu esa fdl o"kZ mRiknu esa] fiNys o"kZ
dh rqyuk esa lokZf/d deh ;k c<+r ntZ dh x;h \

(A) 2013 (B) 2010

(C) 2014 (D) 2012

35. A boy walking at a speed of 20 km/h
reaches his school 30 min late. Next
time he increases his speed by 4km/h
but still he is late by 10 min. Find the
distance of the school from his home./

20 fdeh-/?kaVk dh xfr ls pyrk gqvk ,d yM+dk
vius fo|ky; 30 feuV dh nsjh ls igq¡prk gSA vxyh
ckj mlus viuh xfr 4 fdeh-/?kaVk c<+k yh fiQj Hkh og
vius fo|ky; 10 feuV nsjh ls igq¡prk gSA mlds ?kj ls
fo|ky; dh nwjh gS&

(A) 40 Km/ fdeh- (B) 32 Km/ fdeh-

(C) 30 Km/ fdeh- (D) 25 Km/ fdeh-

36. If x = 7 then the value of x5 – 8x4 + 8x3

– 9x2 + 7x  + 5 is

;fn x = 7 gks rks x5 – 8x4 + 8x3 – 9x2 + 7x  +

5 dk eku D;k gksxk ?

(A) 44 (B) 40

(C) 144 (D) –44

37. Allowing 20% and 15%  successive
discounts, the selling price of an article
becomes `3,060 then the marked price
will be

20% vkSj 15% dh mÙkjksÙkj NwV nsus ds ckn ,d oLrq
dk foØ;&ewY; ` 3,060 gks tkrk gSA mldk vafdr
ewY; fdruk gksxk ?

(A) 4,500 (B) 4,000

(C) 5,000 (D) 4,400

38. The least number that should be added
to 2055, so that the sum is exactly
divisible by 27 :

2055 esa dkSu lh y?kqre la[;k tksM+h tkuh pkfg,
ftlls og 27 ls Bhd&Bhd foHkkT; gks ?

(A) 24 (B) 27

(C) 28 (D) 31

39. The measure of an angle whose
supplement is three times as large as
its complement,

ml dks.k dk eki D;k gS ftldk laiwjd blds iwjd ds
rhu xquk ftruk cM+k gS ?

(A) 45º (B) 60º

(C) 75º (D) 30º

40. The word ‘Socialist’ was added to the
Preamble of the Indian Constitution.

Its main objective is-/'kCn ^lektokn* Hkkjrh;
lafo/ku dh çLrkouk esa tksM+k x;k FkkA bldk eq[;
mís'; gS&

(A) To eliminate inequality in economic

and political conditions/vkfFkZd o jktuhfrd
fLFkfr esa vlekurk dks lekIr djus

(B) To eliminate inequality in political

and religious matters./jktuhfrd vkSj
/kfeZd ekeyksa esa vlekurk dks lekIr djus

(C) To eliminate inequality in income
and status and standards of living/

vk; vkSj thou dh fLFkfr esa vlekurk dks lekIr
djus osQ fy,

(D) To eliminate class based society/

oxZ vk/kfjr lekt dks lekIr djus esa

41. Why are you not able to see objects in
a dimly lit room when you come from

a brightly lit room?/tc vki rst jks'kuh okys
dejs ls vkrs gSa rks vki ean jks'kuh okys dejs esa
oLrqvksa dks D;ksa ugha ns• ikrs gSa\

(A) The iris dilates the lens so that

less light can enter the eye./ifjrkfjdk
vfHkus=k ysal dks iQSykrh gS ftlls vk¡• esa de
çdk'k ços'k dj ikrk gSA

(B) The iris contracts and makes the
pupil smaller due to which less

light can enter the eye./ifjrkfjdk
fldqM+ dj iqryh dks NksVk cuk nsrh gS ftlls
vk¡• esa de çdk'k ços'k dj ikrk gSA

(C) Vitreous fluid dilates the pupil so
that less light can enter the eye./

dkpkHk æo iqryh dks iQSykrk gS ftlls vk¡• esa
de çdk'k ços'k dj ikrk gSA

(D) The cornea contracts and makes
the pupil smaller due to which less

light enters the eye./dkWfuZ;k fldqM+ dj
iqryh dks NksVk cuk nsrh gS ftlls vk¡• esa de
çdk'k ços'k dj ikrk gSA

42. What will be the focal length of a
convex lens of power +2.5 diopters?/

+ 2-5 Mk;ksIVj {kerk okys mÙky ysal dh iQksdl nwjh
D;k gksxh\

(A) 20 cm (B) 10 cm

(C)40 cm (D) 5 cm

43. The image which can be obtained on

the screen is called ----./tks çfrfcac inZs ij
çkIr fd;k tk lds] &&&& dgykrk gSA

(A) Vector reflection/osDVj çfrfcac

(B) Virtual image/vkHkklh çfrfcac

(C) Real image/okLrfod çfrfcac

(D) Spectral reflection/o.kZØeh; çfrfcac

44. ---- are formed when an opaque object

comes in the path of light./&&&&rc curs
gSa tc dksbZ vikjn'khZ oLrq çdk'k ds ekxZ esa vkrh gSA

(A) Mirror image/niZ.k çfrfcac

(B) Shadow/Nk;k

(C) Translucent rays/ikjHkklh fdj.ksa

(D) Transparent rays/ikjn'khZ fdj.ksa

45. What does it mean when an object has

a positive charge?/tc fdlh oLrq ij /ukRed
vkos'k gksrk gS rks bldk D;k vFkZ gS\

(A) It has more electrons than

protons/blesa çksVkWu dh rqyuk esa bysDVªkWu
vf/d gksrs gSa

(B) It contains more protons than

electrons/blesa bysDVªkWu dh rqyuk esa çksVkWu

vf/d gksrs gSa

(C) It contains more neutrons than

electrons/blesa bysDVªkWu dh rqyuk esa U;wVªkWu
vf/d gksrs gSa

(D) It contains more neutrons than

protons/blesa çksVkWu dh rqyuk esa U;wVªkWu vf/
d gksrs gSa

46. What is the relative charge of proton

and neutron?/çksVkWu vkSj U;wVªkWu dk lkis{k vkos'k
fdruk gksrk gS\

(A) Respectively –1 and +1/Øe'k% &1 vkSj $1

(B) +1 and –1 respectively/Øe'k% $1 vkSj &1

(C) +1 and 0 respectively/Øe'k% $1 vkSj 0

(D) -1 and 0 respectively/Øe'k% &1 vkSj 0

47. What is the atomic mass of sodium?/

lksfM;e dk ijek.kq æO;eku fdruk gS\

(A)  32 (B) 40

(C) 23 (D) 12

48. What is the maximum number of
electrons that can be there in the third

orbital or M shell?/rhljs d{k ;k M dks'k esa
vf/dre fdrus bysDVªkWu gks ldrs gSa\

(A) 32 (B)8

(C)18 (D) 2

49. Which of the following is a red alga?/

fuEufyf•r esa ls dkSu&lk yky 'kSoky gS\

(A) Rhodophyceae/jksMksiQkblh

(B) Chlorophyceae/DyksjksiQkblh

(C) Liverwort /fyojokWV

(D) Phaeophyceae /fiQ;ksiQkblh

50. Which of the following is another
name for starch which is found
especially in the pulp of seeds, fruits,
tubers, roots and stems of plants of
corn, potato, wheat and paddy?/

fuEufyf•r esa ls dkSu lk fodYi LVkpZ dk nwljk uke
gS tks fo'ks"k :i ls edbZ] vkyw] xsgwa vkSj /ku ds
chtksa] iQyksa] danksa] ikS/ksa dh tM+ksa vkSj ruksa ds xwns esa
ik;k tkrk gS\

(A)Amylum / ,sfeye

(B)Xanthan / tSaFku

(C)Olestra / vksysLVªk

(D) Saponin / lSiksfuu

51. What is the general term for

Ancylostoma?/,sfUdyksLVksek ds fy, lkekU; 'kCn
D;k gS\

(A) Tapeworm/iQhrk Ñfe

(B) Roundworm/xksy Ñfe

(C) Filariasis worm/iQkbysfj;k Ñfe

(D) Hookworm/vadq'k Ñfe

52. Solanum lycopersicum L. Which of the
following What is the scientific name of
which vegetable which has excessive

leafiness?/lksyue ykbdksiflZde ,y- fuEufyf•r esa
ls vR;f/d •ir okyh fdl lCth dk oSKkfud uke gS\

(A) Potato/vkyw (B) Tomato/VekVj

(C) Onion/I;kt (D) Garlic/yglqu

53. Untouchability has been abolished and

is punishable for its practice -/vLi`';rk
dks lekIr dj fn;k gS vkSj vius vH;kl djus ds fy;s
naMuh; gS&
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(A) Article 15/vuqPNsn&15

(B) Article 16/vuqPNsn&16

(C) Article-17/vuqPNsn&17

(D) Article-15(4)/vuqPNsn&15(4)

54. Who was the first Speaker of the Lok

Sabha?/yksdlHkk dk çFke vè;{k dkSu Fkk\

(A) G.V. Mavalankar/th- oh- ekoyadj

(B) P.Upendra/ih-misUæ

(C) Anant Shyanam Iyengar/vuUr ';kue
vk;axj

(D) Hukum Singh/gqdqe flag

55. This politician has never been the
acting minister of the Department of

Telecommunications:/;g jktuhfrK dHkh nwj
lapkj foHkkx ds dk;Zokgd ea=kh ugha jgs %

(A) A. Raja/,- jktk

(B) Pramod Mahajan/çeksn egktu

(C) C.Narayanan/lh- ujk;.ku

(D) Kapil Sibal/dfiy flcy

56. The focal length of the objective lens
of a telescope is 50 cm. If the
magnification of the telescope is, then,
the focal length of the expired is:-/

fdlh nwjchu ds vfHkn`';d ysal dh iQksdl nwjh 50
lseh gSA ;fn nwjchu dk vko/Zu gS] rks] lekIr dh
iQksdy yackbZ gS% &

(A) 12. 5 cm (B) 5 cm

(C) 2 cm (D) 10 cm

57. A copper wise radius is "r" and length
is "l" and its resistance is "R". If the
radius of another copper will is 2r and

the length is "
2

l
", then, the resistance

of this wire will be:-/rkacs ds fglkc ls f=kT;k
"r" gS vkSj yackbZ "l" gS vkSj bldk çfrjks/ "R" gSA

;fn nwljs rkacs dh f=kT;k 2R vkSj yackbZ "
2

l
" gS] rks]

bl rkj dk çfrjks/ gksxk%&

(A) R (B) 2R

(C)
R

4
(D)

R

8

58. Abbreviation of DOS?

DOS dk iwjk uke D;k gS\

(A) Data Operating System

(B) Disk Operating Store

(C) Disk Operating System

(D) None of the above

59. What is Oracle? / vksjsdy D;k gS\

(A) Oracle is a database

vksjsdy ,d MsVkcsl gS

(B) Oracle is a sripting language

vksjsdy ,d fLØfIVax Hkk"kk gS

(C) Oracle is an operating system

vksjsdy ,d vkWijsfVax flLVe gS

(D) Oracle is a programming language

vksjsdy ,d çksxzkfeax Hkk"kk gS

60. Which of the following explains the

term ‘mulching’?/fuEufyf[kr esa ls dkSu&lk
^efYpax* 'kCn dh O;k[;k djrk gS\

(A) Growing crops on steep slopes/

terraces/[kM+h <+kyksa ij@cuh osfndkvksa (Vsjsl)
esa iQly pyxkuk

(B) Covering bare land between crops
with a layer of organic material like

straw./iQlyksa ds chp [kkyh tehu dks iqvky
tSls tSfod inkFkZ dh ijr ls <+duk

(C) Covering the contour with stones,

grass etc./dUVwj dks iRFkjksa] ?kkl vkfn ls
<+duk

(D)None of these/buesa ls dksbZ ugha

61. By whom was the energy flow model

in the ecosystem done?/ikfjfLFkfrd ra=k easa
dk ÅtkZ izokg ekWMy fdlds }kjk fd;k x;k Fkk\

(A) Lindemann/fyUMeSu

(B) Clements/fDyesUV~l

(C) Odum/vksMe

(D) None of these/buesa ls dksbZ ugha

62. The 10th law of energy flow in the

ecosystem was given:/ikfjfLFkfrd ra=k esa ÅtkZ
izokg dk 10» fu;e fn;k x;k Fkk%

(A) By Hackel/gSdy }kjk

(B) By Elton/,YVu }kjk

(C) Lindemann/fyUMeSu }kjk

(D) None of these/buesa ls dksbZ ugha

63. Where is the Railway Diesel Engine

Factory located?/jsyos Mhty batu dk dkj[kkuk
dgk¡ fLFkr gS\

(A) Varanasi/okjk.klh

(B) Kapurthala/diqjFkyk

(C) Avadi/vokMh

(D) Hubli/gqcyh

64. Which committee has been formed on
capital account convertibility in

India?/Hkkjr esa iwath [kkrs dh ifjorZuh;rk ij
dkSu&lh lfefr cuh gS\

(A) Raj Committee/jkt lfefr

(B) Rangraj Committee/jaxjkt lfefr

(C) Tarapore Committee/rkjkiksj lfefr

(D) Mukherjee Committee/eq[kthZ lfefr

65. The flow of foreign direct investment

in India is included in-/Hkkjr esa fons'kh izR;{k
fuos'k ls gksus okys izokg dks 'kkfey fd;k tkrk gS&

(A) In the items deposited in current

account/pkyw [kkrs dh tek enksa esa

(B) In the debit items of current

account/pkyw [kkrs dh uke enksa esa

(C) In the deposited items of capital

account/iw¡th [kkrs dh tek enksa esa

(D) In the debit items of capital

account/iw¡th [kkrs dh uke enksa esa

66. Market demand curve is/cktkj ek¡x oØ
gksrk gS

(A) Vertical sum of demand curves of

individual consumers/O;fDrxr miHkksDrkvksa
ds ekax oØ dk mèokZèkj ;ksx

(B) Horizontal sum of demand curves

of individual consumers/O;fDrxr
miHkksDrkvksa ds ekax oØ dk {kSfrt ;ksx

(C) Vertical sum of demand curves of

individual firms/O;fDrxr iQeksaZ ds ekax
oØ dk mèokZèkj ;ksx

(D) None of these/buesa ls dksbZ ugha

67. The trade union movement was

permanently established in India./Hkkjr
esa etnwj la?k vkUnksyu LFkk;h rkSj ij LFkkfir gqvkA

(A) In 1917/1917 esa

(B) In 1919/1919 esa

(C) After the First World War/çFke fo'o
;q¼ ds ckn

(D) After the Second World War/f}rh;
fo'o ;q¼ ds ckn

68. When was the first economic census

conducted in India?/Hkkjr esa igyh vkfFkZd
tux.kuk dc dh xbZ Fkh\

(A) 1977 (B) 1972

(C) 1958 (D) 1983

69. The headquarters of SEBI is located

in/lsch (SEBI) dk eq[;ky; fLFkr gS&

(A) In Delhi/fnYyh esa

(B) In Mumbai/eqEcbZ esa

(C) In Kolkata/dksydkrk esa

(D) In Pune/iq.ks esa

70. The year of launch of Swachh Bharat

Mission in India is-/Hkkjr esa LoPN Hkkjr
fe'ku dh 'kq:vkr dk o"kZ gS&

(A) 2016 (B) 2014

(C) 2015 (D) 2017

71. Operation Black Board is related to/

vkWijs'ku CySd cksMZ lacaf/r gS

(A) From rural education/xzkeh.k f'k{kk ls

(B) From adult education/izkS<+ f'k{kk ls

(C) From urban education/'kgjh f'k{kk ls

(D) From primary education/izkFkfed f'k{kk ls

72. Who was the proponent of plate

tectonic theory?/IysV fooZrfud fl¼kar ds
izfriknd dkSu Fks\

(A) W.J. Morgan/MCY;w ts ekWxZu

(B) Copenhagen/dksisugsxsu

(C) Contour/d.Vwj

(D) None of these/buesa ls dksbZ ugha

73. Which of the following is the local

cold wind?/fuEu esa ls dkSu LFkkuh; B.Mh gok
gS\

(A) El-Nino/vy&uhuks

(B) Harmattan/gjeV~Vku

(C) Nor'wester/ukjosLVj

(D) La Nino/yk&fuuks

74. In which year did Lord Hardinge

cancel the partition of Bengal?/yk WM Z
gkfMZax us caxky foHkktu jí fdl o"kZ fd;k\

(A) 1911 (B) 1904

(C) 1906 (D) 1907

75. Who formed 'Swadesh Bandhav Samiti'
during the Indian freedom struggle?/

Hkkjrh; Lora=krk la?k"kZ ds nkSjku fdlus ̂ Lons'k cUèko
lfefr* dk xBu fd;k Fkk\

(A) Batukeshwar Dutt/cVqds'oj nÙk

(B) Surya Sen/lw;Z lsu

(C) Ashwini Kumar Dutt/vf'ouh dqekj nÙk

(D) More than one of the above/mi;ZqÙkQ esa
ls ,d ls vf/d


